
The Mean

Use your understanding of the mean to solve this problem.

Find the number of runs each child scored in the school cricket match.

Zaineb scored 114 runs. 

Idris scored 25 fewer runs than Peter and 30 more runs than Daisy.
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I can calculate the mean as an average.

Zaineb:

mean = 105
Peter:

Idris:

mean = 77
Bethan:

Daisy:

mean = 55
Leon:
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The Mean Answers
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Zaineb:

114 runs
mean = 105

Peter:

96 runs

Idris:

71 runs
mean = 77

Bethan:

83 runs

Daisy:

41 runs
mean = 55

Leon:

69 runs

visit twinkl.com

https://www.twinkl.co.uk/resources/planit-maths-primary-teaching-resources/planit-maths-primary-teaching-resources-year-6/planit-maths-primary-teaching-resources-year-6-statistics

